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Cuadro 19 (continuación 6)/Table 19 (continued 6)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.032 0.031  100 000  3 114  97 251 0.968 b 6 963 371 69.6
1 4 0.001 0.004  96 886   348  386 632 0.996 c 6 866 120 70.9
5 5 0.000 0.002  96 537   224  482 126 0.998 6 479 488 67.1

10 5 0.001 0.003  96 313   243  480 958 0.995 5 997 362 62.3
15 5 0.001 0.007  96 070   694  478 616 0.990 5 516 404 57.4
20 5 0.003 0.014  95 376  1 296  473 640 0.985 5 037 788 52.8
25 5 0.003 0.016  94 080  1 524  466 589 0.982 4 564 148 48.5
30 5 0.004 0.019  92 556  1 786  458 312 0.980 4 097 560 44.3
35 5 0.004 0.021  90 769  1 874  449 159 0.977 3 639 248 40.1
40 5 0.005 0.025  88 895  2 221  438 921 0.971 3 190 089 35.9
45 5 0.007 0.032  86 674  2 809  426 347 0.963 2 751 168 31.7
50 5 0.008 0.042  83 865  3 485  410 611 0.949 2 324 821 27.7
55 5 0.013 0.061  80 380  4 882  389 694 0.927 1 914 209 23.8
60 5 0.018 0.086  75 498  6 508  361 219 0.895 1 524 516 20.2
65 5 0.027 0.126  68 990  8 668  323 279 0.852 1 163 297 16.9
70 5 0.038 0.174  60 322  10 490  275 384 0.792  840 018 13.9
75 5 0.057 0.250  49 832  12 456  218 019 0.718  564 634 11.3
80 5 0.078 0.325  37 376  12 162  156 474 0.642  346 615 9.3
85 5 0.102 0.407  25 214  10 254  100 435 0.563  190 141 7.5
90 5 0.131 0.489  14 960  7 315  56 514 0.484  89 706 6.0
95 5 0.163 0.570  7 646  4 357  27 334 0.176 d  33 191 4.3

100 ω 0.561 1.000  3 288  3 288  5 857  5 857 1.8
Mujeres/Females

0 1 0.024 0.023  100 000  2 332  97 941 0.976 b 7 579 469 75.8
1 4 0.001 0.003  97 668   279  389 940 0.997 c 7 481 527 76.6
5 5 0.000 0.002  97 389   173  486 513 0.998 7 091 587 72.8

10 5 0.000 0.002  97 216   155  485 693 0.998 6 605 074 67.9
15 5 0.001 0.003  97 061   308  484 535 0.996 6 119 381 63.0
20 5 0.001 0.005  96 753   468  482 595 0.994 5 634 846 58.2
25 5 0.001 0.007  96 285   689  479 703 0.992 5 152 250 53.5
30 5 0.002 0.009  95 596   864  475 822 0.990 4 672 547 48.9
35 5 0.002 0.011  94 732  1 006  471 147 0.988 4 196 725 44.3
40 5 0.003 0.014  93 726  1 332  465 302 0.983 3 725 578 39.7
45 5 0.004 0.020  92 395  1 817  457 430 0.977 3 260 276 35.3
50 5 0.005 0.027  90 577  2 444  446 776 0.967 2 802 846 30.9
55 5 0.008 0.038  88 133  3 380  432 215 0.951 2 356 070 26.7
60 5 0.012 0.060  84 753  5 051  411 135 0.926 1 923 855 22.7
65 5 0.018 0.089  79 701  7 063  380 850 0.889 1 512 720 19.0
70 5 0.029 0.136  72 639  9 857  338 549 0.836 1 131 870 15.6
75 5 0.043 0.197  62 781  12 366  282 990 0.768  793 321 12.6
80 5 0.063 0.275  50 415  13 849  217 453 0.687  510 331 10.1
85 5 0.089 0.365  36 566  13 365  149 419 0.596  292 878 8.0
90 5 0.122 0.464  23 201  10 760  89 106 0.499  143 459 6.2
95 5 0.163 0.569  12 441  7 080  44 507 0.181 d  54 353 4.4

100 ω 0.545 1.000  5 362  5 362  9 846  9 846 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


